Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY

Summer Examination-2017

Subject Name: Surveying
Subject Code: 2TEO3SUR1 Branch: Diploma (Civil)

Semester: 3 Date: 29/03/2017 Time: 10:30 To 01:30 Marks: 70
Instructions:

(1) Use of Programmable calculator & any other electronic instrument is prohibited.

(2) Instructions written on main answer book are strictly to be obeyed.

(3) Draw neat diagrams and figures (if necessary) at right places.

(4) Assume suitable data if needed.

Q-1 Attempt the following questions:

a  The curvature of the earth is taken into consideration , if the limit of survey is
km?
(1) 50 to 100 (ii) 100 to 200 (iii) 200 to 250 (iv) more than 250

b If drawing scale is less than __ m then it is called map.
(i) 10 (ii) 50 (iii) 100  (iv) 200
c If map scale 1 cm=50 m then its R.F=

(i) 1/50 (i) 1/500 (i) 1/5000 (iv) 1/50,000
d 80 Gunter’s chain =
(i) 1 Furlong (i) 1 mile (iii) 1 meter (iv) none of these
e  Which compass is not a type of magnetic compass.
(i) Prismatic compass (if) Graduated Compass
(iii) Surveyor’s compass (iv) Transit compass

f The instrument is attached to the wheel of vehicle in order to measure the
distance travelled, is called
(i) Passometer (ii) Pedometer (iii) Odometer (iv) Speedometer

g 1m’= feet®
(i) 34.31 (i) 35.31 (iii) 30.31 (iv) 1000
h  Fore bearing =
(i)Back bearing + included angle (i1) Back bearing - included angle
(iii) Back bearing + 360 (iv) 360 - Back bearing
i Which one is not a type of Bench mark?
(i) permanent B.M (ii) temporary B.M  (iii) M.S.L B.M
(iv) arbitrary B.M

J Correction for curvature C, = meter

(i) 0.02211 d? (ii) 0.03311 d? (iii) 0.01122 d? (iv) 0.01133 d?
k  Normal size of plane table is
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(i) 75cm *60 cm (i) 60 cm * 75 cm

(i) 75cm * 75 cm (iv) 60 cm * 60 cm
A main segment of GPS is

(i) space segment (i) control segment

(iii) user segment (iv) all of above

Give the full form of GPS
(i) Global periodical system
(iii) Global public survey

2

(i) Global positioning survey
(iv) Global positioning System

1 Hector = m
(i) 1,000 (ii) 10,000
(iii) 10,00,000 (iv) 1,00,000

Attempt any four questions from Q-2 to Q-8

Attempt all questions

Define Surveying. Write down purpose of surveying.

Give a brief classification of surveying.

Attempt all questions

Write in brief:- Types of scales

Construct a diagonal scale for 1 cm =45 km and show on it 63.2 km distance

Attempt all questions
Explain with neat sketch (1) Open Cross staff (2) Optical square
Define:- (1) Main survey station (2) Base line (3) Tie line (4) Offset
(5) Oblique offset (6) Planimeter (7) Zero circle
Attempt all questions
Define:- Meridian. Also write down types of Meridian.
The following bearing was observed in running closed traverse. Find included
angle for traverse and apply usual check.

Line F.B
AB 40°
BC 70°
CD 210°
DA 280°

Attempt all questions

Differentiate between Internal Focussing telescope and external focusing
telescope

Write down errors in leveling and its elimination.

Attempt all questions

The following reading were taken with dumpy level. 1.155, 1.565, 2.695,
3.580, 2.085, 2.895, 4.125.Level was shifted after 4™ level. R.L of B.M is 50
m. Calculate the RL of all points by rise and fall method. Apply usual check.
Define GPS. Also write down uses of GPS.

Attempt all questions

Write down a methods of computation of area by taking offsets. Also write in
brief any two of them.

\‘

\‘

\‘

\‘



Q-1

Define:- Contours. Also write down characteristics of contours.

Attempt the following questions:

o udeal ol (@lle (3 &8 A yeel ol soueS tautot
ActMl 2wa B,
(i) U0 l 100 (ii) 100 &l 200 (iii) 200 &l RUO (iV)RUO $cll AR

%l QUeFIL oll v Hl 52l olloll 818 Al Aal ois2l 53 V.
(i) 10 (i) U0 (iii)00  (iv) 200
%\ ats2ll oll ¥t 4 AL = wo Hl 8 A RF= .

(i) /10 (i) 1/100 (iii) /4000 (iv) 1/10,000
80 Gunter’s chain =
(i) 1 Furlong (ii) 1 mile (iii) 1 meter (iv) none of these
ol oll Hil 520 sWH NoalRs SULL oll UsLR o1ell?

() Qwlla suw (i) Asw2s SWU

(iii) v el su (iv) 2le®ct SURL
AR MUl HIE dlgat oll VeSSl A 53 Attt HScUHL A B?
(i) Passometer (ii) Pedometer (iii) Odometer (iv) Speedometer
1m’= feet®

(i) 34.31 (if) 35.31 (iii) 30.31 (iv) 1000
Fore bearing =

(i)Back bearing + included angle (i) Back bearing - included angle
(iii) Back bearing + 360 (iv) 360 - Back bearing
ol otl Hiedl 520 dAA-Ros ol UsIR o1ell?
(i) U dd-Res (i) SoUHl ct-Rod (i) M.S.L dcdt-Rled
(iv) Arbitrary B.M.
asletclol HI2 oll YURL C, = l
(i) 0.02211 d? (ii) 0.03311 d? (iii) 0.01122 d? (iv) 0.01133 d?
UM A Qo 2o ol WERS Bl & D.
(i) 75cm * 60 cm (i) 60 cm * 75 cm
(iii)) 75 cm * 75 cm (iv) 60 cm * 60 cm
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Q-3

Q-4

Q-5

GPS all H4u2l el .
(i) space segment (i) control segment
(iii) user segment (iv) all of above

Give the full form of GPS

(i) Global periodical system (i) Global positioning survey

(iii) Global public survey (iv) Global positioning System
1 Hector = m?

(i) 1,000 (ii) 10,000

(iii) 10,00,000 (iv) 1,00,000

Attempt any four questions from Q-2 to Q-8
Attempt all questions

cyluel AL - el , Adetel ol Sl Ll

udetel of collsel ([@Qotdar AHXAL.
Attempt all questions
B oll UsiRA (Aot sl

e A = wu (sl 12 @Qsel et ofl 23t 531 93.2 ($Hl.Aoll UR

galal

Attempt all questions
A5lA A (AdtctalR AHAAL(Q) YeAl 2 (R) ustallal ol

cuRdl UL (1) Hud Ul eUet () WULUR WL (3) AL ULt

(4) Adgdal (5) slevell Adgdu () wielldleR (9) Yo adn
Attempt all questions
callu_ll AL~ il . vl oll YsiRA (Qotdat’ dHestal.

A5 6t HEARWL ABCD otl AL oflA 3ol 8.l AER ol vRW L

U 33| Ul Al

Ul w9y Aot
AB ¥0°

BC 90°

CD 240°

DA C0°

Attempt all questions
dslald WAL-H1ARS i@t 2AEU wal ollal dAll@etd 2AEU

dAetal HL ataldl A2 Aal doj (Al AHstA.
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Attempt all questions
As DUMPY Add ol HeE 2l ollA Yol oll clizotlsl Aot A1856,D.

1.565, 2.695, 3.580, 2.085, 2.895, 4.125. AL cidelld AAd o [Ase s3c
8.B.M o R.L.UO Hl. ®. sl % We&e2 oll R.L. RISE AND FALL METH
aueldla adtol AnA.

eyl AU~ GPS. GPS oll Gualloll .

Attempt all questions
U gl Axsan ucloll A weudl sl uel 2 [QotdalR

ALl
LUl WU~ AR WL, AUl AR UL ofl cllsellsdl weudl..
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